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QUESTION 1

An architect is designing a VMware software-defined data center (SDDC) solution based on the following customer
requirements: The solution must initially support 1,000 virtual machines The solution must scale to support the
concurrent running of up to 5,000 virtual machines The production environment should be delivered across two data
centers The solution should have a maximum tolerable downtime (MTD) of four hours The solution should have a
monthly service availability target of 99.8%

Which two assumptions could the architect make based on the information from the customer to help size the solution?
(Choose two.)

A. The number of vSphere hosts in a cluster

B. The average resource utilization of a virtual machine

C. The size (CPU/RAM/storage) of the average virtual machine
D. The guest operating system for each virtual machine

E. The size (CPU/RAM/storage) of the vSphere hosts

Correct Answer: AE

QUESTION 2

An architect is designing a new vSphere environment to meet the following requirements:
The environment must support 5,000 virtual machines.

The environment will be built initially using 350 hosts.

Which vCenter Server appliance deployment size should the architect specify for the design?
A. Large

B. Small

C. Tiny

D. Medium

Correct Answer: A

QUESTION 3
Which two of the listed requirements would be classified as performance non-functional requirements? (Choose two.)
A. The vSphere platform must be able to provide a recovery time objective of 30 minutes

B. The vSphere platform must be able to provide a minimum throughput of 400 MB/s
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C. The vSphere platform must be able to provide N+1 redundancy
D. The vSphere platform must be able to provide a maximum read latency of 15 ms
E. The vSphere platform must be able to provide a service-level agreement (SLA) of 99,9%

Correct Answer: AD

QUESTION 4

An architect is designing a new vSphere environment to meet the following requirements:
The environment must support 5,000 virtual machines.

The environment will be built initially using 350 hosts.

Which vCenter Server appliance deployment size should the architect specify for the design?
A. Large

B. Small

C. Tiny

D. Medium

Correct Answer: A

QUESTION 5

A customer defines a requirement to minimize the vMotion migration time during a maintenance period. The servers
being used are equipped with eight 1 GbE network adapters.

Per the defined logical network configuration, there are two network adapters each used for:
Management traffic vMotion traffic iISCSI traffic Virtual machine traffic

Which design decision should the architect make to meet the customer requirement?

A. Use Network I/O Control to define a reservation for vMotion traffic.

B. Implement Multi-NIC vMotion by adding additional vMotion VMkernels.

C. Configure a dedicated TCP/IP stack for vMotion traffic.

D. Combine vMotion and Management traffic to make use of four adapters.

Correct Answer: A
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